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. Biology 1 (New Syllalbus) Two Hours,

| & [ rih 'I"_i' ur o O o 6, Pack corenct of masd apprErriain dRiaeT

g, The four mos commoen chemical elements found in
EXving tatter are

(1) CHA and #

(25 0 Hirapd &

(3 OB and B

(4] ¢ Ay and %

(57 e HAYand U

0L Whel of the follovwing biochemical comversons Lakang
Fqflace in Imng cefls is an example of an ensbolsc reacton?
f0F Conperrseen of tarch to glucose
121 onverson of proteins o dipeptades
TAF 4 amiwer wiesd o aimlino acids 1 proteine
(4} Comversion of fats to fanty scds
[5F Comversion of ghicoss o carbon donide and water
o1 wWhich of the ollivwing statements is correct regarding
c:-f-h-\. tosyrthics
[AF Chavgen s illm]ul;l:d 711 ph[m;i sy srm il of the ||ﬂh|:
fr e
120 Carkson dsoxpde i fued om0 e Erand ol the
i rl.ll'\-r-uilh.ll‘
(¥ ATE u produced in the photo systen | ol the laght
(L TR ]
(4 HADPH and H” are produced dunng photo system
LI sl the ||F,!I|.1 s il
(5) Light reactuon takes place in the stroma of the
o hulopoplant

® ipesteons Yo 04 and 05 are based on the following tests

and oflsaeiv gl oens

Test Solution X Solution ¥
Feitling bk redd precipitate | no colour LJ'I-I'E
Teediine dark blue dark blue
uuret o cobour change | purple velour

04 Hased o the above observations it can e concheded
T—M.at the solutien X coatains
i -p,]l.lu"-l-l' ard wtarch only.
{21 swcrose and suarch only.
3 starch and mdun'nll-qllr only.
(4 glycogen and glucose anly
15 f-r!irn.';f:r and starch only

05 Rawcd on the above observations it can be conchuded
Tnat slution ¥ conising
{1} warch and protein oaly
12} ﬂu.u.ﬂt and Froiein ﬂ'l-l'r
(3} amino acids and starch only

[4) sucrose and protein only.
15} sucrode, starch and protein.

!

M

' ]

6 Which of the following stalsments & et

=—regarding ATF!

M) AT is » pucheotide
{21 ATP s nevessary bor symthess of macromolecules .
(31 ATP i ncorssary for comverting glecose to pymuv

aid i lycolynis
(4) ATP contains three hagh encrgy phosphate bonds

(%) Arrobi respmrstion  yheldi  more ATP  than
fermeniaien
07. An adult animal collected from # fresh water pond
the following fesfures
1 A) Cialls (B) Two cyes

(C) Wallung legs (D) Dorsoventially flattemed bosdy
To which one of the following classey wonild thia aizerrial

mont likely belong?
(1) Podychacta (1) Insecta R T
(4) Amphitwa (5} Himadines

08. Which of the following organiums have been loving on
C=¥rth for the longest period wath vers litnle <k

i1} Chimpansecs {2} Croven
(3 Graes {4) Wihinkes
(5} Lassyp shierlla

09. Which of the following combinatioms of phyium
S Maracter 13 imooerect?

Phylum Characier
(1) Paevoplivta Presence of son
i 21 Brvophyta Presence of roots
(1) Cycadophyta Presence of megasparophyils
4] Modluscs Presence af a veniral foot
5] Fchinodermata  Presence of an endoskeleton
10. Flagship speces are the species that

=11} are confined to a certan country of region
(2} are listed in the IUCN ped data book
(¥} arv represented in the nivtonal fags of the countries
(4) have a symbodic valer in the culture of 8 country
{5} are protected by lnw
11. Sexual reproduction of Micor consists of the following
mage
(11 Developmen of rypepore
(1) Two byphar of different strasms comtact with to
cach other
() Formation of gametangss
{1V Fusion of machel
(V] Germinatlon of rygespore

Which of the following represents the corect order of
wages in sezual of Muger !

() I, 0, I, v 0 (20 IL UL IV LY

) LI LIV Y @ LIV.OLLY

5) LV LI,V
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12. Which of the following comparisons on taxis and

«=popism is incorrect?
Taxis Tropism

(1) | Shown by some Shown by higher plants
unicelhalar and sonme F“"l‘
IH'P.I"IIII'I'II-

{2) | Stimulus general or | Stimulus unilateral
diffuse

(3) | Response towards | Response towards the
or away from stimulus only
stimuilus

(4) | Whole organism Only part of the plant
Moves moves

(5) | Not a growth Always a growth
moreerment movement

=1 13, Whach of the followin regions of the visible spectrum
E-:—er[ light is muost pl‘nducgiﬂ't for photosynthesis?

(1} Hed and violet

(2) Red and green

{3) Green and blue

(4) Blue and violet

(5) Hed and blue

=

d{, Which of the following substances is mainly transported

16 the i1|1.h;'r|_'n!|r
(1} Gases

{2} Waier
13 Svnithesized food (4) Mineral salts
15 :"1'|1r1l-Eﬂ'lu.ll.l.1 wasles
| 15 Whili of the following elements are necessary for the

= fo— Mot inatiun of chiurl:lph].rﬂ’.'
(1] sulphur, nitrogen and iron

12} sulphur, magnesium and iron
{3} sulphur, nitrogen and magnesium
{4) sulphur, nitrogen. magnesium and iron
(5} magnesium, nitrogen and iron

.| A6 Which of the following character is abeent in the life

" cycle of angiosperms

(1) Alternation of generation of haplowd and diploid
EETEralns

(2} Development of microspores and megaspores

{(3) Dominant sporophytic generation

(4) Reduced gametophyti generation

(5) Meiosis during gamete formation

17. Parthenocarpy occurs very commonly in nature in

(1) grapes (2) orange. (3) pincapple
(4) mangosteen. (5) guava,

:_—l:‘:;hh: wu:ﬂphﬂl is totally dependent on the
tophyte.
(2) &“Fuw:!ﬂtﬂtildmd“
mmmnlw:mpmhd
Flﬂﬂln‘ w
fﬂ mm-ﬁunhmmhmm
are relcased
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19. Which of the following staterments regarding the hgm
shan 15 incorrect? H haman
(1) Al four basic types of tissues are present in
{2) It symthesises vitamin A
(3) It functions as an excretory ongan
(4) End;m the entry of micro organisme Nty the

(5) 1t helps in thermoregulatian

20. A student when examining an animal tissye under th,
light microscope observed that its cells are bring on ,
basemnent membrane. Which one of the ﬁﬂm,‘ b
mast likely to be present in this tissue?

(1) Red blood corpuscles  (2) Collagdh fibres

(3) Large matrix (41 Yellow fibres
(5) Cilia

21.When examining a dissection of an earthwern,
displayed by the teacher, a student observed tha the
hearts

(1) were located in the middle region of the body
(2} were ventral to the alimentary canal

(3) possessed ostia

(4) were paired.

(5) were bathed in blood in the haemocoel

22 Which of the following statements is true regarding o
normal healthy fully grown male foetus?
(1) All skull bones are completely hardened.
(2) Nails have developed upto the tips of the fingers.
(3) Eye lids are not separated from esch other
{4) Body is covered with a dense layer of hair
(5) Scrotum is not developed.

23. Which of the following statements is correct regarding
both a cardisc muscle fibre and 3 smooth muscle fibry?
(1) They are striated
(2) They are spandle shaped.

(1) They never become fatigued.
(4) They are myogenic
(5) They are under involumtary control

4. Deficiency of which one of the following hormonzs can
cause diabetes insipidus?
(1) Insulin (2) Aldosterone (3) ADH
(4) Noradrenaline  (5) Glucagon

23.In man, which of the
synthesized in the pituj ’
(1) Prolactin pisttary gland
(2} Growth hormaone
(3 Thyrond stimulating hormone
(4) Onytocin
() Luteinizing hormone

hormones s net

26. Which of (he following stastements is imcesrect
human saliva?

() n '* 3 muxture of the secretions of salivary glands
@® lndhlnl;:lmm

It 1o reduce dental caries.
(3) Pryalin is present in saliva,

(4) It has a bactericidal action,
(5} 1t is alkaline.
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77 Which of the following
comitact with bload?
(1) External gills (2) in
(4) Book lungs

Fespiratory structures is not in

ternal gills
(5) Lungs gills  (3) Trachear

28. The diagram given below ;
fepresents
: a normal ECG tracing

Contraction of the auricles i represented
(1P 2 (MR (4) 5 blr[!]"[

29. 11 a child of blood group O was born 1o
a father of blood
group A and a mother of blood group B, whlr::l t'rfllhr
following combination gives the genotypes of father

and mother?

Father
iy I ll::::tr
(e [~[®
(3 14 L
(4 1™ 1%
50 1% &
30. Which of the following statements is mot true regarding
meross?

(1) Mewsis takes place durin is

(2} The daughter cells have only half the chromosome
number of the mother cell

{3) During the development of the embryo the cells
multiply by mean ol meiosis

(4] Meiosis leads w variations wn the offspring

(5) Four daughter cells are produced from one mother
cell during meiosis

3. Crossing of two pink flowered plants resulted in red
flowered, pink flowered and white flowered plants at 1
4 Lratnn The most hkely reason for this result 15

(1) epastasis. (2) ncomplete dominance.

(3] mutations. (4) polyallelic inheritance

(53) polygenic inhenitance.

32, Dimple 15 2 double recessive Mendelian character that
occury i humans. If 2.25% of a certain population
possesses this character, the percentage of heterozygotes

for thus character in this jon is
(1 9775 % (2) 85.00 %. (3) T4-50%
(4 7225 %, (5) 25.50%

3. Parallel evolution is
(1) Evolution of anatomical features as adaptations to
new environments
(2) Fvolution of characters that prevent interbreeding
among the members of a population
(3 Evolution of specialized characters in closely
related species:
4) Emmuﬂ similar characters in species that have
different ancestors
(5) Evolution of complex organ systems in closely
related species
Astan Publications
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M. Auzins
(1) Stimulate cell division at the stem apex
(2) Stimulate root formation in stem cuttings
(3) Stimulate lateral bud development
(4) Stimulate frudt ripening
(5) Stimulate breaking of dormancy in seeds

35. Which of the following statements best explains the
Gaia concept?
{1} Biosphere is the largest ecosystern on earth
(2) The enviroament |5 an integrated functional vystern
(3) The living and non-living components of the
blosphere interact with each other
(4) The bink between the bving and non living components
of the biosphere is the biogeochemical cycles
{5) The carth s a living entity
36. In all ecosystems
(1] the highest biomass is found 3t the primary
consumer level.
(2) animal and plamt material are broken down into
reusable end products
(3) the largest number of organisma are found a7 the
primary producer level
(4) the highest amount of energy s stored wn the
highest trophic level.
{5) dexomposers play a significant role in 1he s
of energy.
37. The convention known as CITES deals wuh the
(1) emission of ozone depleting substances
(2) wading of endangered animals and plants
(3) conservation of wetlands.
(4) minimuzing the greenhouse effect
(3) protection of endemic species

38. Which of the following statements on air pallur. 1t
correct?

(1} Emission of carbon dioxide mto the atmosplicre
has significantly comnibuted to the depletion of

QT

OFoe .
(2) Methane produced in animal husbandry activities |-

contributes to global
(3} Oxides of carbon are the major contributors for
acid rain in industrialized countries.
(4} Carbon monexide and smoke from the vehicle

cthausts do not sull contribute sigrificantly 1o air
pollution in the cities.

(5) Destruction of the ozone laver results in an

increase in the amount of infra red radiation in the
atmosphere

¥9. Which of the following statements is incorrect

regarding bioremediation?

“Bioremediation s currently used 1o

(1) decrease the level of organsc pollutunts in sgquatic
environments

(2) accelerate decomposition of waste in waste water
treatment plants of the food industry.

(3) remove oil spills from aquatic environments.

(4) treat gastro-intestinal disosders of humans.

(5} remowe toxsc metals such 25 chromium in metal
industry waste
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40. Which of the following eye piece . objective

combination in a light ficroscope would enable you,
to see a minimum number of yeast cells in o sample of
toddy?

{1)5«40 {2) 5« 100
(41040 (5) 104 100

Antibacterial activity of pemcillin
(1} inhibit bacterial

(2) inhibit bacterial cell wall synthesis
(3) inhibit bacterial DNA synthesis
(4} dumage bacterial cell membrane
(5) damage bacterial nbosomes.

42. Which of the followi B Pairs of microorganisms play
4 major role in the commerciy| production of vinegar

from fruit juice?

(1) Saccharomyces and | actobacillus

(2) Aspergillus and Acetobacter

(3) Lactobacillus and Acetobacqer

(4) Saccharomyces and Acetobacter

(5) Aspergillus and Lactobacillus

43. Which of the following pathogenic bacteria produce a
disease mainly through the production of neurotoxins?
(1) Corynebacterium diphtheriae
(2) Vibrio cholerage
(¥ Closeridivm telam
(4) Salmonella typhi
(5} Staphylococcus ALreus

(3) 10« io

41.

icillin depends on its ability 1o
protein synthesis

_

) -I-*I.‘Nhn_h

of the following statements is incorrect

n*g.:rdmg hlﬁpriﬁ:iﬂu?

(1} They are environmentally friendly

(2) They are biodegradable

(3} Thew toxins do not accumulate along food chains,

(4) Pests do not generally develop resistance against
biopesticides.

(5) Only bacteria are used as hiopesticides.

| 45. Aquaculture of which one of the following species

had contributed to large amount of foreign exchange
earnings in, Sri Lanka in the recent past?

(1) Oreochromis mossambicus
(2) Penacus monodon

(3) Labeo rohita

(4) Catla catla

(5) Oreochromis niloticus

46. Which of the following statements is true regarding
. 1 ’
i[r;) Smck:E:';:;T;h lower than in semi-intensive
aquaculture. I
(2) Tilapias are among the major species
imm“ﬂwmmsn zll:h ar used in
(3) Gill nets are the major nshing ge

(A) Red weevil
(C) Coconut leaf mines

Which of the above
and cause e
itage?
() Aand B
(4) Aand C

Which of the
americanus is true?
(1) It feeds on partly digested food in e
intestine of man -
(2) Its infections can be controlled by dmw
breeding sites of mosquitos G

(3) Larvae are related into the external environ
with the faeces of the infected rsong :

(4) Larvae passes through the heart of the infected
person during the he cycle.

(5) Its infections are usually sdentified by i
blood sample for the presence of larvae.

49.The observed frequencies of four ph of the
F, generation obtained in a dihybrid cross were 24,
12,9 and 3. A student carried out 4 chi-square et 1y,
determine whether these trequencies conform 1 the

9:3:3: 1 ratio The chi-square value he calculated wy,
(1) 0-00 (2) 038 (3)1-33
(4) 11.00 (5) 4800

hdnn‘ to

Amage to coconut pelm dlﬂ'ing
(2) Band C
(5) Cand D
48,

30. The percentage of a normally

distributed populesion
that takes values greater

1hmﬂ&tﬂhdm+!

standard deviation is approximately
(1) 95.0% (2) 68.0% (3) 3205
4)50% (5) 2.5%

® For cach of question 5] o 60 one or more of the
responses is/are correct. Decide which of the response

responses isfare correct and then select the comrest
number.

Ifonly A, B and D are correct
If only A, C and D are correct
Ifonly A and B are correct ...
If only C and D are correct -

If any other response or cﬂnﬂ:-mnmulmpmm “

e g Bl

RREE LT LT P ———

Directions Summarised
1 2 ] 1 5
A.B.D A B D any other pegponse
correct COfTect o combinatiza of
responses comect

3. Which of the following statement / statements is / &
correct?

_ (A) All viruses are obligate parasites,
harﬂ]'sﬂﬂﬂ i is carried out only if the :‘g; All viruses contain DNA and RNA.
(4) Supplemen feeding is low. Some viruses contain enzymes.
of Cultured Orgaaisme * T8 ensive (D) Most viruses that infect plants have RNA
is lﬂdﬂ' . X .
(5) Yield per unit area (E) Al viruses can be cultivated in live chick embr®
aquaculture sanen Astar Pubian™
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52. Which of
rd the follow;
methods is/are m"““ﬂt_ of food preservation method/
milk? i the Production of powdered
(A) Radiation
(B) Membrane filerq;
(C) Dehydration o
(D) Asepsis
(E) Addition of Sugar
1 W
5! m:;“  person travels from north 1o the equator of the
- some of the biomes he would be ahj
in correct order are = Mcrrs
E;;:i'lﬂ:l!- tundras, decidygys forests, rain forests
: H:hunm forests, taigas, rain forests, deserts
lnl'“_“ 33 1algas, deciduous forests, rain forests
(Dhtaigas,  deciduous forests,  deserts, tropic I
grasslands. =
{E)tundras, temperate grasslands, laigas, deserts
54. Which of the following resour !
(A} Fossuns (B) e < S Wi '[T: ;‘:}nﬂtw.lb]c"
(D) Fresh water  (E) Graphite
55 Which of the following is/ '
disorder / disorders of mEn"l et
[A) Down's syndrome
(B) Turner’s syndrome
(C) Red-green colour blindness
(D) Haemophilia
(E) Clinefelter’s syndrome
36.In man. activation of the parasympathetic nervous

Astan Publications

system

(A) increases gut movements,

(B) relaxes the urinary bladder sphincter.
(C) increases sweating

(D) constricts pupils

(E) dilates bronchioles

57

C, type of phutosynthesis is more efficient than C_ type

of photosynthess because in C_ plants

(A} Carbon dioxule scceptor is more efficient

(B) Photorespiration does not take place

{C) Calvin cycle dors not take place

(10} Photolyss of water and formation of carbon
thoexide take place in dufferent cells

(E) Carbon dioxide absorbed by mesophyll cells are
transported o bundle sheath cells

Which of the following feature/s found in Nephrolepis
cannot be found in Pogonatum?

(A) Well developed vascular tissues

(B) Independent gametophyte

(C) Independent sporophyte

(D) haploid spores

(E) motile reproductive cells

Which of the following taxa include/inclades manne
organisms?

(A) Chlorophyta

(B) Bryophyta

{C) Chondnichthyes

(D) Reptilia

(E) Lycophyta

. Which of the following statements regarding extinction

of species is / are true?

{A) Extinction of species is 2 natural process

(B) At far as known today, extinction of dinosaars ~as
the first major extinction that took place on carth

IC) Rate of extinction of Specics has increased 0 e
last century

(D) Extinctions are needed to provide space 'or new
species

(E) Rate of extinction of species is generaliv higher
than the rate of speciation
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